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1 Introduction
In RAN4#80bis the WF [1] on ALCR was approved several agreements were captured

The core requirement is decided to be defined as OTA ACLR according to the following definition:
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, where EIRPd is the filtered mean power within the desired signal channel bandwidth.
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, where EIRPe is the filtered mean emission power in the neighbouring channel bandwidth.
To capture properly EIRP, EIRPx, p1 and EIRPx, p2 is associated to two orthogonal polarizations.

 As the available time for the eAAS WI is short the agreements should be captured in the TR as soon as possible.

This contribution captures the agreements on minimum ACLR in the TR.
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3 Text Proposal:

TR37.843  v0.0.1
--------------Start of text proposal-------------
5.6
Unwanted emissions


5.6.1
General

< Texts to be added >
5.6.2
Adjacent Channel Leakage power Ratio

Based on the findings of the simulation work done in [TR 37.842] the effect of adjacent channel interference on the throughput of adjacent networks is dependent on the total radiated adjacent channel power rather than the power in the mina beam. 
As the number of active transceiver units generating the beam and the coherence level of the adjacent channel noise from each active transceiver unit is unknown it is not possible to derive a relationship between the ACLR of a single point in the centre of the main beam (as ratio of 2 EIPR values) and the ACLR of the total radiated power. 
The ACLR requirement is hence based on a ratio of the total radiated filtered mean power centred on the assigned channel frequency to the total radiated filtered mean power centred on an adjacent channel frequency.

In order that the requirement is measurable the total power is defined as the sum of the EIRP at a number of discrete directions around the sphere and the ACLR requirement is as follows:
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, where EIRPd is the filtered mean power within the desired signal channel bandwidth.
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, where EIRPe is the filtered mean emission power in the neighbouring channel bandwidth.
To capture properly EIRP, EIRPd, p1 and EIRPe, p2 is associated to two orthogonal polarizations.

The number of discrete points required for conformance is FFS. 
--------------end of text proposal-------------
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